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Winter Subtraction

Solve the following word problems.

An ice skating rink measures 956 square feet. After
expansion, it now measures 732 square feet. How
much larger was the initial size?

A ski resort has 655 snowboards. 321 snowboards
were rented out for a day. How many snowboards
are left in the ski resort?

A winter fair had 950 visitors in the morning. In the
afternoon, 452 visitors left. How many visitors are
still at the fair?

A store had 1,000 winter jackets. After a sale, they
sold 350 jackets. How many jackets are left in the
store?

A city has 650 ice skaters. 154 of them decided to
stay home due to extreme cold. How many ice
skaters are still skating?

A winter festival had 1,000 attendees on the first
day. On the second day, there were 512 fewer
attendees. How many people attended the festival
on the second day?

A skating rink conducted 654 skating sessions last
year and 387 sessions this year. How many fewer
sessions were held this year?

In a snowball fight, Team A hit Team B with 367
snowballs, while Team B hit Team A with 278
. snowballs. How many more hits did Team A score?
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